PUBLICATIONES MATHEMATICAE

TOMUS 32.

DEBRECEN 1985

FUNDAVERUNT:

A. RÉNYI, T. SZELE ET O. VARGA

ADJUVANTIBUS

Z. DARÓCZY, E. GESZTELYI, B. GYIRES, K. GYŐRY, A. RAPCSÁK, L. TAMÁSSY

REDIGIT:

B. BARNA

Evdokia Xekalaki

Some identifiability problems involving generalized Waring distributions

INSTITUTUM MATHEMATICUM UNIVERSITATIS DEBRECENIENSIS HUNGARIA

PUBLICATIONES MATHEMATICAE

TOMUS 32.

DEBRECEN 1985

FUNDAVERUNT:

A. RÉNYI, T. SZELE ET O. VARGA

ADJUVANTIBUS

Z. DARÓCZY, E. GESZTELYI, B. GYIRES, K. GYŐRY, A. RAPCSÁK, L. TAMÁSSY

REDIGIT:

B. BARNA

ISSN 0033-3883

INSTITUTUM MATHEMATICUM UNIVERSITATIS DEBRECENIENSIS HUNGARIA

Some identifiability problems involving generalized Waring distributions

By EVDOKIA XEKALAKI (Crete)

ABSTRACT

In this paper it is shown that generalized Waring distributions (univariate and bivariate) can be determined uniquely from knowledge on the form of certain conditional distributions and some appropriately chosen regression functions.

Keywords and phrases: Regression function; conditional distribution.

1. Introduction

Regressions of the form $E(X|Y=y)=\varphi(y)$ are of interest in many areas mainly for prediction purposes. In the study of accidents, for instance, Johnson [3] obtained, in the context of his accident proneness model, a linear form for $\varphi(\cdot)$; then he considered the resulting linear regression model for predicting the number X of accidents to be sustained by an individual in a given time period conditional on the number Y of accidents sustained by the same individual in a preceding time period. In some of the problems considered in the literature which involve conditional expectations of the above form, one of the random variables (r.v.'s) involved (Y) is less than a equal to the other (X) and the mechanism through which such a relationship between X and Y is effected has been represented by the conditional distribution $\{P(Y=y|X=x), y=0, 1, 2, ..., x; x>0\}$. În this connection, the binomial probability function (p.f.) has been considered for P(Y=y|X=x) and on the assumption of a linear regression of X on Y, the Poisson, binomial or negative binomial distribution has been arrived at as the distribution of X or Y (see e.g. KORWAR [5], XEKALA-KI [6] and Dahiya and Korwar [1]. Other forms for $\varphi(\cdot)$ or for the distribution of Y|(X=x) have also been considered leading to other forms of distributions (e.g. XEKALAKI [8], [10], [11], IRWIN [2] studied a three parameter univariate distribution, the univariate generalized Waring ditribution (UGWD), which is more general in structure than the previously mentioned three distributions. In point of fact, the Poisson, binomial and negative binomial distributions are limiting forms of the UGWD. (For more details concerning the structure and properties of this distribution see XEKALAKI [9], [11]). It would therefore be interesting to examine whether a similar result holds for this more general distribution. This paper deals with this problem. It is shown in section 2 that if the distribution of Y conditional on (X=x) is binomial (x;p), p fixed and independent of x and the regression of X on Y is of a given form, the probability distribution of X is identified as UGWD. (Identifiability problems for the UGWD and other discrete distributions have also been examined by XEKALAKI and PANARETOS [12]). Similar results are obtained in section 3 for the two-dimensi Ξ al case. There, the bivariate generalized Waring distribution (BGWD) defined by XEKALAKI [7] is involved. Finally, in section 4, a bivariate generalized Waring distribution with independent components is obtained on the assumption of linear regression for X_i on (Y_1, Y_2) , i=1, 2 and of a negative hypergeometric distribution for $Y_i|(X_i=x_i)$, i=1, 2.

Before obtaining the main results, we provide the definitions of the univariate

and bivariate generalized Waring distributions for ease of reference.

A non-negative and integer-valued r.v. X is said to have the univariate generalized Waring distribution with parameters a, k, and ϱ (UGWD $(a, k; \varrho)$) if its probability generating function (p.g.f.) is given by

$$G_X(s) = \frac{\varrho_{(k)}}{(a+\varrho)_{(k)}} {}_{2}F_1(a, k; a+k+\varrho; s), \quad a>0, k>0, \ \varrho>0 \ |s| \le 1$$

where $a_{(\beta)} = \Gamma(a+\beta)/\Gamma(a)$, a>0, $\beta \in R$ and ${}_2F_1$ is the Gauss hypergeometric function obtained from

$${}_{\mu}F_{\nu}(\underline{a};\,\underline{b};\,z) \equiv {}_{\mu}F_{\nu}(a_1,\,a_2,\,\ldots,\,a_{\mu};\,b_1,\,b_2,\,\ldots,\,b_{\nu};\,z) = \sum_{r=0}^{\infty} \frac{(a_1)_{(r)}(a_2)_{(r)}\ldots(a_{\mu})_{(r)}}{(b_1)_{(r)}(b_2)_{(r)}\ldots(b_{\nu})_{(r)}} \frac{z^r}{r!}$$

for $\mu=2$, $\nu=1$.

A random vector (X, Y) of non-negative and integer-valued components is said to have the bivariate generalized Waring distribution with parameters a, k, m and ϱ (BGWD $(a; k, m; \varrho)$) if its p.g.f. is

$$G_{X,Y}(s,t) = \frac{\varrho_{(k+m)}}{(a+\varrho)_{(k+m)}} F_1(a; k, m; a+k+m+\varrho; s, t), a, k, m, \varrho > 0$$

$$(s,t) \in [-1,1] \times [-1,1]$$

where F_1 is the Appell hypergeometric function defined by

$$F_1(a; b, b'; c; z, w) = \sum_{r=0}^{\infty} \sum_{l=0}^{\infty} \frac{a_{(r+l)}b_{(r)}b'_{(l)}}{c_{(r+l)}} \frac{z^r}{r!} \frac{w^l}{l!}.$$

2. Identifiability of the UGWD

Theorem 2.1. Let X and Y be two non-negative integer-valued r.v.s. such that the conditional distribution of Y given (X=x) is the binomial with parameters x and π , that is

(2.1)
$$P[Y = y | X = x] \equiv g_{y|x} = {x \choose y} \pi^y \varphi^{x-y}, \quad 0 < \pi < 1, \ \varphi = 1 - \pi.$$

Then

(2.2)
$$E(X|Y=y) = y + \varphi \frac{(a+y)(k+y)}{(a+k+\varrho+y)} \frac{{}_{2}F_{1}(a+y+1, k+y+1; a+k+y+1; \varphi)}{{}_{2}F_{1}(a+y, k+y; a+k+\varrho+y; \varphi)}$$

$$a > 0, k > 0, \ \rho > 0,$$

if and only if the distribution of X is the UGWD $(a, k; \varrho)$.

PROOF. Necessity. Denote by q_y and p_x the p.f.'s of Y and X respectively and let the distribution of X be the UGWD $(a, k; \varrho)$. Then from (2.1) we have

(2.3)
$$G_{X|Y=y}(t) = \frac{1}{q_y} \sum_{x=y}^{\infty} g_{y|x} p_x t^x = \frac{\sum_{x=y}^{\infty} {x \choose y} \pi^y \varphi^{x-y} p_x t^x}{\sum_{x=y}^{\infty} {x \choose y} \pi^y \varphi^{x-y} p_x}.$$

But

$$\sum_{x=y}^{\infty} {x \choose y} \pi^{y} \varphi^{x-y} p_{x} t^{x} = \frac{\varrho_{(k)}}{(a+\varrho)_{(k)}} \sum_{x=y}^{\infty} \frac{\pi^{y} \varphi^{x-y}}{y! (x-y)!} \frac{a_{(x)} k_{(x)}}{(a+k+\varrho)_{(x)}} t^{x} =$$

$$= \frac{\varrho_{(k)}}{(a+\varrho)_{(k)}} \frac{(\pi t)^{y}}{y!} \frac{a_{(y)} k_{(y)}}{(a+k+\varrho)_{(y)}} \sum_{x=0}^{\infty} \frac{(a+y)_{(x)} (k+y)_{(x)}}{(a+k+\varrho+y)_{(x)}} \frac{(\varphi t)^{x}}{x!} =$$

$$= \frac{\varrho_{(k)}}{(a+\varrho)_{(k)}} \frac{(\pi t)^{y}}{y!} \frac{a_{(y)} k_{(y)}}{(a+k+\varrho)_{(y)}} {}_{2}F_{1}(a+y, k+y; a+k+\varrho+y; \varphi t).$$

Substituting in (2.3) we get

$$G_{X|Y=y}(t) = \frac{t^{y}{}_{2}F_{1}(a+y, k+y; a+k+\varrho+y; \varphi t)}{{}_{2}F_{1}(a+y, k+y; a+k+\varrho+y; \varphi)}.$$

Differentiating with respect to t and then letting t=1 (2.2) follows.

Sufficiency. Consider (2.2) and let the distribution of Y|(X=x) be defined by (2.1). We will show that the distribution of X is the $UGWD(a, k; \varrho)$. We have

$$E(X|Y=y) = \frac{1}{q_y} \sum_{x=y}^{\infty} x g_{y|x} p_x.$$

Substituting for $g_{y|x}$ and making use of the identity

$$x \begin{pmatrix} x \\ y \end{pmatrix} = (y+1) \begin{pmatrix} x \\ y+1 \end{pmatrix} + y \begin{pmatrix} x \\ y \end{pmatrix}$$

we obtain

(2.4)
$$E(X|Y=y) = \frac{y+1}{q_y} \sum_{x=y+1}^{\infty} {x \choose y+1} \pi^y \varphi^{x-y} p_x + y = \frac{\varphi}{\pi} (y+1) \frac{q_{y+1}}{q_x} + y.$$

Combining (2.2) and (2.4) we get

$$\frac{q_{y+1}}{q_y}(y+1) = \pi \frac{(a+y)(k+y)}{(a+k+\varrho+y)} \frac{{}_{2}F_{1}(a+y+1, k+y+1; a+k+\varrho+y+1; \varphi)}{{}_{2}F_{1}(a+y, k+y; a+k+\varrho+y; \varphi)}$$

or equivalently

(4.1.7)

$$q_{y+1} - \frac{\pi}{y+1} \frac{(a+y)(k+y)}{(a+k+\varrho+y)} \frac{{}_{2}F_{1}(a+y+1,\,k+y+1;\,a+k+\varrho+y+1;\,\varphi)}{{}_{2}F_{1}(a+y,\,k+y;\,a+k+\varrho+y;\,\varphi)} \, q_{y} = 0.$$

This is a first order difference equation in q_y with a solution which is unique under

the condition
$$\sum_{y=0}^{\infty} q_y = 1. \text{ Solving, we get}$$

$$q_y = q_0 \prod_{i=0}^{y-1} \pi \frac{(a+i)(k+i)}{(a+k+\varrho+i)(i+1)} \frac{{}_2F_1(a+i+1,k+i+1;a+k+\varrho+i+1;\varphi)}{{}_2F_1(a+i,k+i;a+k+\varrho+i;\varphi)} = (2.5)$$

$$= q_0 \pi^y \frac{a_{(y)}k_{(y)}}{(a+k+\varrho)_{(y)}y!} \frac{{}_2F_1(a+y,k+y;a+k+\varrho+y;\varphi)}{{}_2F_1(a,k;a+k+\varrho;\varphi)}.$$

Summing both sides over y we obtain

$$1 = q_0 \sum_{y=0}^{\infty} \sum_{r=0}^{\infty} \frac{a_{(y+r)}k_{(y+r)}}{(a+k+\varrho)_{(y+r)}} \frac{\pi^y}{y!} \frac{\varphi^r}{r!} \{ {}_2F_1(a,k;a+k+\varrho;\varphi) \}^{-1}$$

or equivalently

$$1 = q_0 \frac{{}_2F_1(a, k; a+k+\varrho; \pi+\varphi)}{{}_2F_1(a, k; a+k+\varrho; \varphi)} = q_0 \frac{(a+\varrho)_{(k)}}{\varrho_{(k)} {}_2F_1(a, k; a+k+\varrho; \varphi)}.$$

Therefore

$$q_0 = \frac{\varrho_{(k)}}{(a+\varrho)_{(k)}} {}_2F_1(a, k; a+k+\varrho; \varphi).$$

Substituting in (2.5) yields

$$q_{y} = \frac{\varrho_{(k)}}{(a+\varrho)_{(k)}} \frac{\pi^{y}}{y!} \frac{a_{(y)}k_{(y)}}{(a+k+\varrho)_{(y)}} {}_{2}F_{1}(a+y, k+y; a+k+\varrho+y; \varphi).$$

This implies that the p.g.f. of Y is given by

(2.6)
$$G_{Y}(t) = \frac{\varrho_{(k)}}{(a+\varrho)_{(k)}} {}_{2}F_{1}(a,k;a+k+\varrho;\pi t+\varphi).$$

But

(2.7)
$$G_{Y}(t) = \sum_{y=0}^{\infty} \sum_{x=y}^{\infty} g_{y|x} p_{x} t^{y} = \sum_{y=0}^{\infty} \sum_{x=y}^{\infty} {x \choose y} \pi^{y} \varphi^{x-y} p_{x} t^{y} =$$

$$= \sum_{x=0}^{\infty} p_{x} \sum_{y=0}^{x} {x \choose y} (\pi t)^{y} \varphi^{x-y} = \sum_{x=0}^{\infty} p_{x} (\varphi + \pi t)^{x} = G_{X} (\pi t + \varphi).$$

Comparing (2.6) to (2.7) we deduce that the distribution of X is the UGWD $(a, k; \varrho)$. Hence the theorem is established.

Notice that the UGWD $(a, k; \varrho)$ belongs to Kemp's [3] family of distributions defined by

(2.8)
$$G(t) = \frac{{}_{\mu}F_{\nu}(\alpha; \beta; \lambda t)}{{}_{\mu}F_{\nu}(\alpha; \beta; \lambda)},$$

for $\lambda = v = \mu/2 = 1$. It is interesting, therefore, to observe that by an argument similar to that used to prove Theorem 2.1 we can show the following more general theorem involving the family in (2.8).

Theorem 2.2. Let X and Y be two non-negative integer-valued r.v.'s such that the conditional distribution of Y given (X=x) is given by (2.1). Then the distribution of X has p.g.f. given by (2.8) if and only if

$$E(X|Y=y) = y + \lambda \varphi \left(\frac{\prod_{i=1}^{\mu} (\alpha_i + y)}{\prod_{i=1}^{\nu} (\beta_i + y)} \right) \frac{{}_{\mu}F_{\nu}(\underline{\alpha} + (y+1)\underline{1}; \underline{\beta} + (y+1)\underline{1}; \lambda \varphi)}{{}_{\mu}F_{\nu}(\underline{\alpha} + y\underline{1}; \underline{\beta} + y\underline{1}; \lambda \varphi)}.$$

Note. The particular cases

- (i) $\mu = v = 0$, $\lambda > 0$
- (ii) $\mu=1$, $\nu=0$, $\alpha=-n$, *n* positive integer, $\lambda<0$ (iii) $\mu=1$, $\nu=0$, $\alpha>0$, $\lambda>0$

provide characterizations for the Poisson (λ), the binomial $\left(n; \frac{\lambda}{\lambda-1}\right)$ and the negative binomial $\left(a; \frac{1}{1+\lambda}\right)$ respectively. Thus, Korwar's [5] results are special cases of Theorem 2.2. Moreover, the result of Theorem 2.1 can be obtained from Theorem 2.2 for $\mu/2 = \nu = \lambda = 1$, $\alpha = (a, k)$ and $\beta = a + k + \varrho$.

3. The two-dimensional case

Theorem 3.1. Let X_1, X_2, Y_1, Y_2 be non-negative integer-valued r.v.'s such that the conditional distribution of $(\tilde{Y}_1, \tilde{Y}_2)$ given $(X_1 = x_1, X_2 = x_2)$ is the double binomial with probability function

(3.1)
$$g_{y_1, y_2 \mid x_1, x_2} = \begin{pmatrix} x_1 \\ y_1 \end{pmatrix} \begin{pmatrix} x_2 \\ y_2 \end{pmatrix} \pi_1^{y_1} \pi_2^{y_2} \varphi_1^{x_1 - y_1} \varphi_2^{x_2 - y_2}$$

where $0 < \pi_1, \, \pi_2 < 1, \, \varphi = 1 - \pi_1, \, \varphi_2 = 1 - \pi_2, \, y_1, \, y_2 > 0.$

(3.2)
$$E(X_1|Y_1=y_1,Y_2=y_2)=y_1+\frac{(a+y_1+y_2)(k+y_1)}{a+k+m+\varrho+y_1+y_2}\varphi_1 F(y_1,y_2)$$

and

(3.3)
$$E(X_2|Y_1=y_1,Y_2=y_2)=y_2+\frac{(a+y_1+y_2)(m+y_2)}{a+k+m+\varrho+y_1+y_2}\varphi_2F(y_1,y_2)$$

where

$$F(y_1, y_2) =$$

$$=\frac{F_1(a+y_1+y_2+1; k+y_1+1, m+y_2+1; a+k+m+\varrho+y_1+y_2+1; \varphi_1, \varphi_2)}{F_1(a+y_1+y_2; k+y_1, m+y_2; a+k+m+\varrho+y_1+y_2; \varphi_1, \varphi_2)}$$

$$a, k, m, \varrho > 0$$

if and only if the distribution of (X_1, X_2) is the BGWD(a; k, m; ϱ).

PROOF. Necessity. Let the distribution of (X_1, X_2) be the BGWD $(a; k, m; \varrho)$ and let that of $(Y_1, Y_2)|(X_1 = x_1, X_2 = x_2)$ be given by (3.1). Denote by q_{y_1, y_2} and p_{x_1, x_2} the p.f.'s of (Y_1, Y_2) and (X_1, X_2) respectively. Then, it is easily shown that

$$(3.4) G_{X_1,X_2|Y_1,Y_2}(s,t) = \frac{\varrho_{(k+m)}}{(a+\varrho_{(k+m)})} \frac{a_{(y_1+y_2)}k_{(y_1)}m_{(y_2)}}{(a+k+m+\varrho_{(y_1+y_2)})} \frac{(\pi_1s)^{y_1}}{y_1!} \frac{(\pi_2t)^{y_2}}{y_2!} \times$$

$$\times F_1(a+y_1+y_2; k+y_1, m+y_2; a+k+m+\varrho+y_1+y_2; \varphi_1s, \varphi_2t)q_{y_1,y_2}^{-1}$$

But

$$(3.5) G_{Y_{1},Y_{2}}(t) = \sum_{y_{1},y_{2}} q_{y_{1},y_{2}} s^{y_{1}} t^{y_{2}} = \sum_{x_{1},x_{2}} \sum_{y_{1},y_{2}} q_{y_{1},y_{2}|x_{1},x_{2}} p_{x_{1},x_{2}} s^{y_{1}} t^{y_{2}} =$$

$$= \sum_{y_{1},y_{2}} \sum_{x_{1} \geq y_{1}} \sum_{x_{2} \geq y_{2}} {x_{1} \choose y_{1}} {x_{2} \choose y_{2}} (\pi_{1} s)^{y_{1}} (\pi_{2} t)^{y_{2}} \varphi_{1}^{x_{1} - y_{1}} \varphi_{2}^{x_{2} - y_{2}} p_{x_{1},x_{2}} =$$

$$= \sum_{x_{1},x_{2}} \sum_{y_{1}=0}^{x_{1}} \sum_{y_{2}=0}^{x_{2}} {x_{1} \choose y_{1}} {x_{2} \choose y_{2}} (\pi_{1} s)^{y_{1}} (\pi_{2} t)^{y_{2}} \varphi_{1}^{x_{1} - y_{1}} \varphi_{2}^{x_{2} - y_{2}} p_{x_{1},x_{2}} =$$

$$= \sum_{x_{1},x_{2}} p_{x_{1},x_{2}} (\pi_{1} s + \varphi_{1})^{x_{1}} (\pi_{2} t + \varphi_{2})^{x_{2}} = G_{X_{1},X_{2}} (\pi_{1} s + \varphi_{1}, \pi_{2} t + \varphi_{2}).$$

Here $\sum_{r,l}$ stands for the double summation $\sum_{r=0}^{\infty} \sum_{l=0}^{\infty}$. Therefore, the p.f. of (Y_1, Y_2) is

$$q_{y_1,y_2} = \frac{\varrho_{(k+m)}}{(a+\varrho)_{(k+m)}} \frac{a_{(y_1+y_2)}k_{(y_1)}m_{(y_2)}}{(a+k+m+\varrho)_{(y_1+y_2)}} \frac{\pi_1^{y_1}}{y_1!} \frac{\pi_2^{y_2}}{y_2!} \times$$

$$\times F_1(a+y_1+y_2; k+y_1, m+y_2; a+k+m+\varrho; \varphi_1, \varphi_2).$$

Substituting for q_{y_1, y_2} in (3.4) we obtain

$$G_{X_1,X_2|Y_1,Y_2}(s,t) =$$

$$=\frac{s^{y_1}t^{y_2}F_1(a+y_1+y_2+1; k+y_1+1, m+y_2+1; a+k+m+\varrho+y_1+y_2+1; \varphi_1, \varphi_2)}{F_1(a+y_1+y_2; k+y_1, m+y_2; a+k+m+\varrho+y_1+y_2; \varphi_1, \varphi_2)}$$

from which (3.2) and (3.3) follow.

Sufficiency. Assume that hypotheses (3.1), (3.2) and (3.3) hold. Using an argument similar to that used in proving theorem 2.1 we can show that

(3.6)
$$E(X_1|Y_1=y_1,Y_2=y_2)=y_1+(y_1+1)\frac{\pi_1}{\varphi_1}\frac{q_{y_1+1,y_2}}{q_{y_1,y_2}},$$

(3.7)
$$E(X_2|Y_1=y_1,Y_2=y_2)=y_2+(y_2+1)\frac{\pi_2}{\varphi_2}\frac{q_{y_1,y_2+1}}{q_{y_1,y_2}}.$$

Then, combining (3.6) with (3.2) and (3.7) with (3.3) we obtain

(3.8)
$$\frac{q_{y_1+1,y_2}}{q_{y_1,y_2}} = \frac{\pi_1}{y_1+1} \frac{(a+y_1+y_2)(k+y_1)}{(a+k+m+\varrho+y_1+y_2)} \cdot F,$$

$$\frac{q_{y_1,y_2+1}}{q_{y_1,y_2}} = \frac{\pi_2}{y_2+1} \frac{(a+y_1+y_2)(m+y_2)}{(a+k+m+\varrho+y_1+y_2)} \cdot F,$$

where

$$F = \frac{F_1(a+y_1+y_2+1; k+y_1+1, m+y_2+1; a+k+m+\varrho+y_1+y_2+1; \varphi_1, \varphi_2)}{F_1(a+y_1+y_2; k+y_1, m+y_2; a+k+m+\varrho+y_1+y_2; \varphi_1, \varphi_2)}.$$

The unique solution to this system under the condition $\sum_{y_1,y_2} q_{y_1,y_2} = 1$ is given by

(3.9)
$$q_{y_1,y_2} = q_{0,0} \prod_{i=0}^{y_1-1} h_1(i,0) \prod_{i=0}^{y_2-1} h_2(y_1,j)$$

where $h_i(y_1, y_2)$ is the right hand side of the i^{th} equation of system (3.8) i=1, 2 and $q_{0,0}$ is obtained from

$$q_{0,0} = \left\{ \sum_{y_1,y_2} \left(\prod_{i=0}^{y_1-1} h_1(i,0) \prod_{j=0}^{y_2-1} h_2(y_1,j) \right) \right\}^{-1}.$$

Substituting for $h_i(y_1, y_2)$ and $q_{0,0}$ in (3.9) and taking the p.g.f. we obtain

(3.10)
$$G_{Y_1,Y_2}(s,t) = \frac{\varrho_{(k+m)}}{(a+\varrho)_{(k+m)}} F_1(a;k,m;a+k+m+\varrho;\pi_1s+\varphi_1,\pi_2t+\varphi_2).$$

Comparison of (3.10) to (3.5) shows that the distribution of (X_1, X_2) is the BGWD $(a; k, m; \varrho)$. Hence the theorem is established.

4. A result concerning bivariate generalized Waring distributions with independent components

Consider (X_1, X_2) and (Y_1, Y_2) to be two random vectors with non-negative, integer valued and independent components. Assume that

(4.1)
$$P(Y_1 = y_1, Y_2 = y_2 | X_1 = x_1, X_2 = x_2) = \prod_{i=1}^{2} {\binom{-m_i}{y_i}} {\binom{-n_i}{x_i - y_i}} / {\binom{-m_i - n_i}{x_i}},$$

$$m_i > 0, \ n_i > 0, \ y_i = 0, 1, ..., x_i; \ i = 1, 2.$$

One may observe that if the distributions of X_1 , X_2 are the UGWD $(a_1, m_1 + n_1; \varrho_1)$ and UGWD $(a_2, m_2 + n_2; \varrho_2)$ respectively then the regressions $E(X_i|Y_1 = y_1, Y_2 = y_2)$, i=1, 2 are linear. Specifically one can show that

(4.2)
$$E(X_i|Y_1=y_1,Y_2=y_2)=\frac{(\varrho_i+m_i+n_i-1)y_i+a_i+n_i}{\varrho_i+m_i-1}, y_i=0,1,\ldots; i=1,2.$$

The intent of this section is to examine whether the converse of the above result is also true; i.e., whether starting with (4.1) and (4.2) one can deduce that the distribution of X_i is the UGWD $(a_i, m_i + n_i; \varrho_i)$, i=1, 2. Before answering this question we prove the following lemma.

Lemma. Let (X_1, X_2) and (Y_1, Y_2) be two random vectors with non-negative and integer-valued components. Suppose that (4.1) is true and that $P(X_i=0)<1$, i=1,2. Suppose further that

(4.3)
$$E(X_i|Y_1=y_1, Y_2=y_2)=a_iy_i+b_i, y_i=0, 1, 2, ... i=1, 2$$

for some constants $a_i, b_i, i=1, 2$. Then,

(i)
$$b_i > 0, \quad i = 1, 2.$$

(ii)
$$a_i > 1, \quad i = 1, 2.$$

PROOF.

(i) From (4.3) we have (since $X_i \ge Y_i$, i=1,2) $0 \le E(X_i|Y_1=Y_2=0)=b_i$. Hence $b_i \ge 0$. But, if $b_i=0$ it follows that

$$\sum_{x_i=1}^{\infty} x_i P(X_i = x_i) (n_1)_{(x_1)} (n_2)_{(x_2)} / (m_1 + n_1)_{(x_1)} (m_2 + n_2)_{(x_2)} = 0.$$

This implies that $P(X_i=x_i)=0$, $x_i=1,2,...$; i=1,2 which contradicts the assumption that $P(X_i=0)<1$, i=1,2. Hence $b_i>0$, i=1,2.

(ii) Using (4.3) and the fact that $X_i \ge Y_i$, i=1,2 we have $y_i < E(X_i|Y_1=y_1, Y_2=y_2)=a_iy_i+b_i$ for every y_i , i=1,2, i.e., $b_i > (1-a_i)y_i$, $y_i=0,1,2,...$; i=1,2. Since $b_i > 0$ the latter inequality holds for all the values of y_i only when $a_i > 1$. This completes the proof of the lemma.

The theorem that will be proved in the sequel provides a positive answer to the question posed at the beginning of this section, for the case $n_1=n_2=1$.

Theorem. Let (X_1, X_2) and (Y_1, Y_2) be two random vectors on $\{0, 1, 2, ...\} \times \{0, 1, 2, ...\}$ such that $P(X_i=0)<1$, i=1, 2 and

(4.4)
$$P(Y_1 = y_1, Y_2 = y_2 | X_1 = x_1, X_2 = x_2) = \prod_{i=1}^{2} {m_i + y_i - 1 \choose y_i} / {m_i + x_i \choose x_i}$$

$$m_i > 0; \ y_i = 0, 1, 2, ..., x_i; \ i = 1, 2$$

(i.e. $(Y_1, Y_2)|(X_1=x_1, X_2=x_2)$ follows the joint distribution of two independent negative hypergeometric r.v.'s with parameters, $m_1>0$, $n_1=1$, $m_2>0$, $n_2=1$). Then (4.3) is true for $a_i<1+m_i^{-1}$, i=1,2 if and only if (X_1,X_2) has the joint distribution

of two independent generalized Waring r.v.'s with parameters $\frac{b_i}{a_i-1}$, m_i+1 and $\frac{a_i}{a_i-1}-m_i$, i=1,2.

PROOF. The "if" part follows immediately from (4.2) for $n_i=1$, i=1, 2. "Only if" part. From (4.4) and (4.3) we have

(4.5)
$$\sum_{x_1=y_1}^{\infty} \sum_{x_2=y_2}^{\infty} x_i g(x_1, x_2) = (a_i y_i + b_i) \sum_{x_1=y_1}^{\infty} \sum_{x_2=y_2}^{\infty} g(x_1, x_2)$$
$$y_i = 0, 1, 2, ...; i = 1, 2$$

where $g(x_1, x_2) = x_1! x_2! P(X_1 = x_1, X_2 = x_2)/(m_1 + 1)_{(x_1)} (m_2 + 1)_{(x_2)}$. Consider relation (4.5) for i = 1 and specialize it for $y_1 = r$ and $y_1 = r + 1$. Subtracting the resulting equations by parts we obtain

$$((a_1-1)r+b_1)G(r, y_2)-\alpha_1\sum_{x_1=r+1}^{\infty}G(x_1, y_2)=0$$
 where

 $G(r, l) = \sum_{x_2=l}^{\infty} g(r, x_2)$. Applying the same technique to the above equation we get

$$[(a_1-1)r+b_1]G(r, y_2)-[(a_1-1)(r+1)+b_1+a_1]G(r+1, y_2)=0.$$

Specializing this equation for $y_2=l$ and $y_2=l+1$ and subtracting the two resulting equations we obtain

$$[(a_1-1)r+b_1]g(r+1,l)-[(a_1-1)(r+1)+b_1+a_1]g(r+1,l)=0$$

which, since from the lemma $a_1 > 1$, becomes

(4.6)
$$g(r+1, l) - \frac{r + \frac{b_1}{a_1 - 1}}{r + \frac{2a_1 + b_1 - 1}{a_1 - 1}} g(r, l) = 0, \quad r = 0, 1, 2; ..., l = 0, 1, 2,$$

In a similar manner we obtain from (4.5), for i=2

(4.7)
$$g(r, l+1) - \frac{l + \frac{b_2}{a_2 - 1}}{l + \frac{2a_2 + b_2 - 1}{a_2 - 1}} g(r, l) = 0, \quad r = 0, 1, 2, ..., l = 0, 1, 2,$$

Solving the system of equations (4.6) and (4.7) we obtain

$$g(r, l) = g(0, 0) \left(\frac{b_1}{a_1 - 1}\right)_{(r)} \left(\frac{b_2}{a_2 - 1}\right)_{(l)} \left(\frac{2a_1 + b_1 - 1}{a_1 - 1}\right)_{(r)} \left(\frac{2a_2 + b_2 - 1}{a_2 - 1}\right)_{(l)}$$

$$r = 0, 1, 2, \dots, l = 0, 1, 2, \dots$$

Therefore

$$P(X_1 = r, X_2 = l) = P(X_1 = 0, X_2 = 0) \left(\frac{b_1}{a_1 - 1}\right)_{(r)} (m_1 + 1)_{(r)} \left(\frac{b_2}{a_2 - 1}\right)_{(l)} (m_2 + 1)_{(l)} \div \left(\frac{2a_1 + b_1 - 1}{a_1 - 1}\right)_{(r)} \left(\frac{2a_2 + b_2 - 1}{a_2 - 1}\right)_{(l)} r! l!.$$

From the fact that $a_i < 1 + m_i^{-1}$, i = 1, 2 and the condition $\sum_{r=0}^{\infty} \sum_{l=0}^{\infty} P(X_1 = r, X_2 = l) = 1$ we obtain

$$P(X_1 = 0, X_2 = 0) \prod_{i=1}^{2} \left(\frac{a_i}{a_i - 1} - m_i \right)_{(m_i + 1)} \left(\frac{a_i + b_i}{a_i - 1} - m_i \right)_{(m_i + 1)}$$

Hence, (X_1, X_2) has a bivariate distribution whose marginals are independent UGWD's with parameters $\frac{b_i}{a_i-1}$, m_i+1 , $\frac{a_i}{a_i-1}-m_i$, i=1,2. (The positivity

of $b_i/(a_i-1)$ is ensured by the lemma). Therefore the theorem has been established. Note that Xekalaki [11] has obtained an analogous result for the univariate case.

References

- [1] Dahiya, R. C. and Korwar, R. M., On characterizing some bivariate discrete distributions by linear regression. Sankhvā, Series A, 39, (1977), 124—129.
- by linear regression, Sankhyā, Series A, 39, (1977), 124—129.

 [2] J. O. IRWIN, The generalized Waring distribution. J. Roy. Statist. Soc., A, 138, (1975), 18—31

 (Part I), 204—227 (Part II), 374—384 (Part III).
- (Part I), 204—227 (Part II), 374—384 (Part III).
 [3] N. L. JOHNSON, Uniqueness of a result in the theory of accident proneness. Biometrika 44 (1957), 530—531.
- [4] A. W. Kemp, A wide class of discrete distributions and the associated differential equations. Shankhyā, Ser. A, 30, (1968), 401—410.
- [5] R. M. KORWAR, On characterizing some discrete distributions by linear regression, Commun. Statist. 4, (1975), 1133—1147.
- [6] E. Xekalaki, On characterizing the bivariate Poisson, binomial and negative binomial distributions, in Analytic Function Methods in Probability Theory. (Collog. Math. Soc. J. Bolyai, 21), B. Gyires (Ed.) North Holland, (1980), 369—379.
- [7] E. Xekalaki, The bivariate generalized Waring distribution and its application to accident theory. J. Roy. Statist. Soc., Series A, 147, (1984) 488—498.
- [8] E. Xekalaki, A characterization of the negative hypergeometric distribution based on conditional expectation, Proceedings of the Sixth Conference on Probability Theory. Brasov. Romania, B. Bereanu et al (eds). Editure Academii Republicii Socialiste Romania (1981), 379—384.
- [9] E. Xekalaki, Chance mechanisms for the univariate generalized Waring distribution and related characterizations, In Statistical Distributions in Scientific Work 4 (Models, Structures and Characterizations), C. Taillie, G. P. Patil, B. Baldessari (eds). D. Reidel, Holland (1981), 157—171.
- [10] E. Xekalaki, Expressions for the Probabilities of the bivariate Hermite distribution and related characterizations, Zastosowania Matematyki, 18, (1983), 35—41.
- [11] E. Xekalaki, Infinite divisibility, completeness and regression properties of the generalized Waring distribution. Ann. Inst. Statist. Math., Part A, 35, (1983), 161—171.
- [12] E. Xekalaki and J. Panaretos, Identifiability of compound Poisson distributions. Scand. Actuarial J. 1, (1983), 39—45.

(Received October 5, 1983.)